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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
wors fRAIRRR e Sepilk e foa
(a) Ethics is a Positive/Normative Science.
( Choose the correct answer )

iy Raaf /= Rem |
( % B! AR Sferear )

(b) ‘‘Ethics is the science of the ideal involved in
human life.”” Whose view is this?

‘e Gk s wrefs Remeiz ®'e
TSR 1> 93 T T2
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(2)

(c) Who is the author of the book, Fundamental
Principles of Metaphysics of Morals?

Fundamental Principles of Metaphysics of
Morals T84 (49 (¥ ?

(d) The judgements arrived at by the positive
sciences are factual/ axiological.
( Choose the correct answer )

gy Remy @ ThAe (@ SRR

SURET [ AL |
(% TECo! AR Bferear )
(e) Who wrote the book, The Nicomachean
Ethics?
The Nicomachean Ethics I8 (I
forfRfRe 2
(f) State the cognitive element of moral
consciousness.
AP (TR SIS SATC! SCEd 41 |

(g9 Who for the first time used the word
‘ecology’?

Ecology’ Bl (AT (FIC I T ?

(h) Who authored the book, A Sand Country
Almanac?

A Sand Country Almanac S8 (@IF (¥ ?
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(3)

(i) 'What is the meaning of ‘Sila’?
[’ 5y 5 7
(j)  Which is not a part of Jaina’s Triratna?
(i) Samyak Dar$ana
(ii) Samyak JAidna
(iii) Samyak Samadhi

(iv) Samyak Charitra
( Choose the correct answer )

(FTCO! 0oa TS g 7=y 2
(i) > v
(ii) FF &=
(iii) 0 IR
(iv) 9% vka i
(o7 Te0h! AR Sferen )

2. Answer the following questions very briefly : 2x5=10
o PR S S Ted R
(a) What is the Principle of Hedonism?

SIS o ST 15 2

(b) State any two characteristics of moral
consciousness.

(e (voar R e o1 (3fiE foren 1
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L4

(c) What do you mean by ‘Aérama Dharma’?
s 4’ fereet & @2

(d) What do you mean by Land Ethics?
sficefis Ml e & 3o 2

(e) State two arguments against capital
punishment.

o wed Refes 101 I Beas 740

3. Answer any four questions from the following :
3 5x4=20
o i (I BT 2 T o

(a) ‘“You are not punished for stealing sheep, but
in order that sheep may not be stolen.”” It
refers to which theory of punishment?
Explain the theory. '

“cou PR TR AW ONF M@ M @R AR,
OF MY i tr W A IS (ST P

R 2w 1”7 T R e e e 6 2
TSCHT SICATDT B |

(b) Distinguish between Deontological and
Teleological Ethics.

TSP AR ST (AT oI qerS
N et =01
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(S)

(c) ‘‘The more you seek pleasure the less you get
it.”” Explain the significance of the statement.

‘(g R @Rt Rola, PrrR T3t o= 1”7
FYERT O [ 0 |

(d) What is Purusirtha in Indian Ethics? Explain
briefly.
sew Ao Fmd P & @ @
EHRNESEIN

(e) Write a short note on the Gita’s concept of
Niskama Karma.
Ser figm o IR @ ot 51 R
feram 1

() “‘Duty for duty’s sake.”” Discuss this view of
Kant.
S AR O 1”7 BT 4R SRECBT SCEAGA
901

4. (a) What is Moral Judgement? Discuss the
characteristics of Moral Judgement. 2+8=10

T SEHRT I @ARA? (A SRYET
aPiErTR & &, Seen- <4 |
Or / T4l
(b) What is Moral Obligation? Discuss different
theories of moral obligation. 2+8=10
e ey 7 (AR TORA TR
Rfer TRMER AT 41
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(6)

5. (a) Is Kant’s ‘Categorical Imperative’ Rigoristic?
Explain the Maxims of Kant’s ‘Categorical

Imperative’. 4+6=10
ITo7 TE ST FCORAM TG ? ITOT O
SCPR o1 STCHR0! T |

Or / 541

(b) What is utilitarianism? Distinguish between
gross altruistic and refined altruistic
utilitarianism. 2+8=10

ToIeRM 7 SNifde Repam we AR
P A& A1 Aef 547 |

6. (a) What is meant by Anthropocentrism in
environmental Ethics? Distinguish between
weak and strong Anthropocentrism. 2+8=10

R MMeRre TmREhee Toim s &
T ? T W [ TCRHFAE TS AL
e w91

Or / 5{1

(b) Explain the concept of eco-centrism in
Environmental Ethics. Distinguish between
Deep and Shallow Ecology. 2+8=10

e AMeRom Rl qRad!
JIA 901 TSR e WS ARBRRIR e
A1 Tei=ierer 47 |
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7. (a)

(b)

(7)

What is Brahmavihara? Explain Buddhist
concept of Brahmavihira. 4+6=10

ReR B 7 @5 vE FHRRYIR YRA6
el

Or / =[1

Discuss the concept of Mahavrata as found in
Jaina FEthics. How is it different from
Anuvrata? 4+6=10

o Mo TEEOTR A M| RLTR
SRS A (AT JYF ?

* % %
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